* % x? Cnoxenue 10 100 (1o ropu3oHTaIM)

WUms: Jata: ___ Ouenka:___
28+ 12 = 94 + 35 =
17 +29 = 58 +59 =
70+ 6= 35+64=
79 + 60 = 2+22=
38+ 53 = 66 + 98 =
37+ 83 = 84+ 93 =
71+ 61 = 13+30=
56+ 78 = 66 +45 =
71 + 18 = 2+39=
10+ 67 = 18+ 62 =
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Cnoxenue 10 100 (1o ropu3oHTaIN)

Nwms:

28 +12 =40

17 +29 =46

70+6="76

79 + 60 = 139

38 +53 =091

37+83 =120

71+61 =132

56 +78 = 134

71+ 18 = &9

10+67="77

94 +35=129

58+59 =117

35+64 =99

2+22=24

66 +98 = 164

84+93 =177

13+30=43

66 +45 =111

2+39 =41

18 + 62 = 80
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